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fRRE BESEEE~H) M

H3504 * HeDn 24 <1 10,000 24,000

A 1

HEEE () 30,000,000 47,800,000
EiRrER (e "CF=0.1483 4,890,000 11,051,400
Me S 48,170,000 20,950,000
BERA (TE) 53,060,000 32,001 400
:“ﬂl " llmllil : ]I M 0 23,175,000
PREEE (FE) 53,060,000 8,824,400
EERSENETE (W/E) 29475 45

O AR (W) 0 1935
sk R (W) 0 540,000
EEEKENR (m/E) 4,000 2,200
[Ef] » CRF (RIS RERET) =1+ i1 - (FHE]=7% « n[RMEFRTR) = 10%

A 2

5,306 75 2,947.



FEmE BEERENE  15,0007T/CMD % 2,000 CMD=30,000,0007T 30,000,0007%

- 4,0007T/8 % 258/8 x 128/% =1,200,0007t/&F 1,200,0005%
HEE FHIEBIETRATL5% 2,000,0007%

= BiE 107T/m* X 2000 m*/8 X 258/8 x 128/ =6,000,0007¢/F  6,000,0007T

g AT 600,0007T/ AFEX 6 A 3,600,0007%

g SEBBER SSEELSE-1.35Kg-Cu(OH),/Kg-Cu(D.S.)

g BIRKESRHEKE="75%

E TSEEHE = 1.35Kg +0.25=6.125Ka/Kg-Cu

' ? ] T
KRR SE SR = 1 5Ko/K-Cu 9,8/ R

TSIEEHHIRE = 655ke-Cu/H X 15Kg-i5iE/Kg-Cu % 25H/H
X 128/ X 127T/ke-i5iE = 35,370,0007T/F

e |817000%

BTHRERA RBTER"CRF=0.163 4,890,0007T
FRREMEER 48,170,0007C
& |53060000%
HEMOEA SKOWRE — 07T
HEIE{E = 07T

I I T

[85] % CREGEMISEERFE F) =i(1 +i)1 /(1 +1) (EFIB)=7% » n(BBWEFRER) = 105E -
A 3
( 2
( 4 193.5
54
2,317.5
882.64 4,423. 36
83. 4

98. 47



P EFTREE  20,00075/CMD % 2,000 CMD=40,000,0007 40,000,0007%
ﬁ RMWOEER  40,0007/Kg-Co/E % (655—10) Kg-Cu/El=75,800,0007  25,800,0007%
* BAREEE 10,0007/CMD x 200 CMD =2,000,0007 2,000,0007
5 T 7,007/ % 256/8 % 128/ =2,100,0007/% 2,100,000
3 pER ERERSTRETNS % 3,310,000
E BEREHE  38,0007/E X 25E/EX 126/ = 11 400, 00078/ 11,400,0005%
= ARR 400,00078/ A % 6. =3,600,0007% 3,400,0007%
ﬁ SEENER 0.05k-Cu'm’ X200 m'/B %15 Kg-5#/Kg-Cu x2568/8
X 1 2F/EE X 1 2L /g TR = 540,00075/5F 540,0007%
STEERE  EETERCRF=0.163 11,051 4007
EREEEERE 20,950,0007%

& R 32,001,4007
SEMGRME MXOEME  257/m**(2,000=200/mH % 30088 = 13,500,0007/F  13,500,0007
FOEE &45 Kg-Cu/B % 500T/Kg-Cu X I00B/F=9,675,00070/F 9,4675,0007%

B h 23,175,0007
]+ CRF R RRIBIET) =) /][ + ') + (R =7% « o RBLBEIR) = 105 -
A 4
RNE (7T) 30,000,000 67,800,000
BRITER® (Jr/%E) *CRF=0.163 4,890,000 11,051,400
REHEERR (T/F)
TSEH - HER  BEREHE  ASRRSEHEER 20,750,000
HERA (u/E) 53,060,000 32,001,400
RARFE /%) 0 23,175,000
AeERARNKOWEE Y
PREZE (7T/E) 53,060,000 8,826,400
ERRSEMHELS (E/F) 2,947.5 45
O R (M) 0 193.5
Ol E (/<) 0 540,000
ERBEXEHE (m/8) 4,000 2,200

(] * CRFEBFRESREEF) =11+ +)"— 1 » i(FF)=7% - n(RBEFER) =10EF

A 5
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4, 000 m3/
2,200 m3/ 2
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CcCOoD 120mg/ L
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700 mg/ L COD
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